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Introduction
[bookmark: _Hlk126747574]The WF [1] in RAN4 #110 highlights the issue of TRP offset between PC2 and PC3. This contribution discusses this issue further. 

Issue 2-6-2: How to define TRP PC3 requirements based on PC2 
Agreement:
· RAN4 further discuss and decide how to define TRP PC3 requirements based on PC2. FFS Whether TDD and FDD could be different.

Discussion
There are two proposals on the TRP offset between PC2 and PC3, namely one is for 3dB offset, the other 2.5dB. The argument for TRP(PC3) = TRP(PC2) – 2.5dB from [2] in the last meeting is that PC2 has a wider range of maximum transmit power defined by tolerance values of [+2, -3] dB compared to [+2, -2] dB for PC3. 
The distribution of maximum transmit power values for PC3 can be approximated by a Gaussian distribution and PC2 distribution by a skewed Gaussian distribution due to asymmetrical nature of [+2, -3] dB tolerance range. However, the mean values are 23dBm for PC3 and 26dBm for PC2, respectively. In other words, 50% of values for PC2 would be in the range of [28, 26] dBm while the other 50% is in the range of [26, 23] dBm. Otherwise, the nominal value would not be 26 dBm.
From a mathematical point of view, the offset should be the difference in mean values regardless of the associated distributions. Namely the offset should be 3dB because the nominal values of 23dBm for PC3 and 26dBm for PC3 are the mean values.
In addition to the above mathematical argument, some bands such as n77, n78, n79 and n104 have the same tolerance range of [+2, -3] dB for both PC2 and PC3. This clearly shows that the difference in tolerance range ranges cannot be used to justify an offset of 2.5dB.
Observation 1: the offset between PC2 and PC3 should be based on the mean value difference of 3dB
Observation 2: some bands such as n77, n78, n79 and n104 have the same tolerance range of [+2, -3] dB for both PC2 and PC3. This makes it difficult to justify the 2.5dB offset.
Proposal 1: based on observation 1 and 2, the use of TRP(PC3) = TRP(PC2) – 3 can be justified.
Conclusions
This contribution makes the following proposal and observations.
Observation 1: the offset between PC2 and PC3 should be based on the mean value difference of 3dB
Observation 2: some bands such as n77, n78, n79 and n104 have the same tolerance range of [+2, -3] dB for both PC2 and PC3. This makes it difficult to justify the 2.5dB offset.
[bookmark: _GoBack]Proposal 1: based on the observation 1 and 2, the use of TRP(PC3) = TRP(PC2) – 3 can be justified.
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